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INTERMEDIATE EXAMINATION – 2021 (ANNUAL) 

I.Com. 

Model Set 

Business Studies

          Time 3:Hours, 15 min. 
dqy iz’uksa dh la[;k%&    100 $ 30 $ 8 ¾ 138 
Total No. of Questions: -      100 + 30 + 8 = 138 
 

 
Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give  answers in their own words as far as 

practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- bl iz’u i= dks /;kuiwoZd i<+us rFkk funsZ’kksa dk vuqikyu djus ds fy, 15 feuV  

dk vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidates to read 

the questions and follow the instructions carefully. 

4- ;g iz’u&i= nks [k.Mksa esa gS]  ,oa  

This question paper has two sections: Section-A and Section-B. 

Sub. Code :- 217 

iw.kkZad & 100 
Full Marks -100 
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5- [k.M&v esa 100 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 50 iz’uksa dk mÙkj nsuk vfuok;Z 

gSA 50 ls vf/kd iz’uksa ds mÙkj nsus ij izFke 50 dk gh ewY;kadu gskxkA izR;sd ds 

fy, 1 vad fu/kkZfjr gSA budk mÙkj miyC/k djk;s x;s OMR& mÙkj i=d esa fn;s 

x;s lgh o`Ùk dks dkys@uhys ckWy isu ls HkjsaA fdlh Hkh izdkj ds OgkbVuj@rjy 

inkFkZ@CysM@uk[kwu vkfn dk OMR ’khV esa iz;ksx djuk euk gS] vU;Fkk ijh{kk 

ifj.kke vekU; gksxkA½ 

In Section-A, there are 100 objective type questions, out of which  any 

50  questions are to be answered. If more than 50 questions are 

answered, then only first 50 will be evaluated. Each question carries 1 

mark. Darken the circle with black/blue ball pen against the correct 

option on OMR Sheet provided to you. Do not use 

Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise the result will be 

treated as invalid. 

6- [k.M&c esa 30 y?kqmÙkjh; iz’u gSaA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gS] ftuesa ls 

fdUgha 15 iz’uksa ds mÙkj nsuk vfuok;Z gSA buds vfrfjDr bl  esa 08 nh?kZ 

mÙkjh; iz’u gSa] izR;sd iz’u ds fy, 05 vad fu/kkZfjr gS] ftuesa ls fdUgha 04 iz’uksa 

dk mÙkj nsuk vfuok;Z gSA  

In Section-B, there are 30 Short answer type questions. Each 

question Carries 2 marks, out of which any 15 questions are to be 

answered. Apart from this, there are 08 Long answer type questions 

Each question carries 5 marks, out-of which any 04 questions are to be 

answered.  

7- fdlh rjg ds bysDVªkWfud&;a= dk bLrseky iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 
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SECTION – A 

 Objective Type Questions 

iz'u la[;k 1 ls 100 rd ds izR;sd iz’u ds lkFk pkj fodYi fn;s x;s gS] ftuesa ls 

,d lgh gSA fdUgha 50 iz’uksa dk mrj nsaA vius }kjk pqus x, lgh fodYi dks OMR&’khV 

ij fpfUgr djsaA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA   [50x1=50] 

Question Nos.- 1 to 100 have four options, out of which only one is 

correct. Answer any 50 questions. You have to mark, your selected option, 

on the OMR-Sheet. Each question carries 1 mark.   [50x1=50] 

1- izca/k dh lkekftd mÙkjnkf;Ro dh izdf̀r esa ykxq gksrk gSa 

A- Øsrk dh lko/kkuh dk fu;e  B- foØsrk dh lko/kkuh dk fu;e  

C- A vkSj B nksuksa    D- buesa ls dksbZ ugha 

In the nature of social responsibility of Management applies - 

A. Law of Buyer Beware   B. Law of Seller Beware 

C. Both A and B    D. None of these 

2- izca/k mÙkjnkf;Ro dk gLrkarj.k gS] 

A- eqnzk      B- e’khu   

C- euq";      D- buesa ls dksbZ ugha 

Management is a delegation of responsibility. 



4 
 

A. Money     B. Machines 

C. Men     D. None of these 

3- tktZ vkj- Vsjh ds vuqlkj izca/k ds dk;Z gS & 

A- 2      B- 4   

C- 6      D- buesa ls dksbZ ugha 

According to George R. Terry, the functions of Management are - 

A. 2      B- 4   

C- 6      D. None of these 

4- uhfr fu/kkZj.k dk;Z gS & 

A- mPpLrjh; izca/k dk   B- e/;Lrjh; izca/k dk 

C- fØ;kRed izca/k dk    D- mijksDr lHkh dk 

Policy formulation is the function of - 

A. Top level management  B. Middle level management 

C. Operational management  D. All the above 

5- oSKkfud izca/k dk tUenkrk dkSu Fksa \ 

A- ,p0 ,l0 ilZu    B- Mkbej  

C- ,Q0 MCY;w Vsyj    D- pkYlZ cSost 

Who was the father of scientific management?  

A. H. S. Person    B. Diemer 
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C. F. W. Taylor    D. Charles Babbage 

6- oSKkfud izca/k dc izkjEHk gqvk \ 

A- 1913      B- 1832  

C- 1903      D- 1923 

When scientific management was introduced?  

A. 1913      B- 1832  

C- 1903      D- 1923 

7- gsujh Qs;ksy ds izca/k ds fl)kUr gS %& 

A- 5      B- 10   

C- 14      D- 15 

Henry Fayol’s principles of management are - 

A. 5      B- 10   

C- 14      D- 15 

8- ,d dk;Z ds fu"iknu ds fy, izca/k dks ^^loksZÙke jkLrk <w<+uk pkfg,A** oSKkfud izca/k 

dk dkSu&lk fl)kUr bl iafDr dh O;k[;k djrk gS \ 

A- lkoZHkkSe     B- yphys 

C- lEiw.kZ     D- O;kogkfjd 

Management should find “One best way” to perform a task.” Which 

technique of scientific management is defind in the sentence ? 
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A. Universal     B. Flexible  

C. Absolute     D. Behavioural 

9- fuEu esa ls dkSu&lk izca/k ds fl)kUr dk egRo ugha gS \ 

A- dk;Z dq’kyrk esa òf)   B- igy {kerk  

C- lalk/kuksa dk vf/kdre vi;ksx  D- ifjofrZr rduhdksa dks viukuk 

Which one of the following is not the importance of principles of 

management? 

A. Increase in efficiency    

B. Initiative 

C. Optimum utilization of resources  

D. Adaptation to changing technology 

10- fuEu esa ls dkSu lk dFku ^^dk;Z foHkktu ds fl)kUr** dk o.kZu djrk gS\ 

A- dk;Z dks NksVs&NksVs Hkkxksa esa ck¡Vuk pkfg,A 

B- Je dk foHkktu djuk pkfg,A  

C- lalk/kuksa dks dk;ksZa esa foHkkftr djuk pkfg,A 

D- blesa fof’k"Vdj.k gksrk gSA 

Which of the following statement describe the principle of “Division 

of work” ? 

A. Work should be divided into small tasks. 
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B. Labour should be Divided. 

C. Resources should be divided among Jobs. 

D. It leads to specialization. 

11- fuEu esa ls dkSu Vsyj dk izca/k dk fl)kUr ugha gS \ 

A- foKku u fd O;kogkjk/khu   B- dk;kZRed QksjeSuf’ki   

C- vf/kdre u fd lhfer mRiknu  D- lg;ksx u fd erHksn 

Which of the following is NOT a principle of management given by 

Taylor ? 

A. Science, not rule of the Thumb. 

B. Functional foremanship. 

C. Maximum not restricted output. 

D. Harmony not discord. 

12- fdlh dk;Z dks djus ds fy, izca/k dks ,d loZJs"B ekxZ <q<+uk pkfg,A oSKkfud izca/k 

dh dkSu lh rduhdks dks bl okD; esa ifjHkkf"kr fd;k gS \ 

A- le; v/;;u    B- xfr v/;;u 

C- Fkdku v/;;u    D- i)fr v/;;u 

Management should find “One bestway” to performe. Which 

technique of scientific management is defined in the sentence ?  

A. Time study    B. Motion study 
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C. Fatique study    D. Method study 

13- fuEu esa ls dkSu&lk dFku ekufld ØkfUr dk o.kZu djrk gS \ 

A- blesa :>ku esa ifjorZru fufgr gSA 

B- izca/kd ,oa Jfedksa dks [ksy ugha [ksyuk pkfg,A 

C- izca/k ,oa deZpkjh nksuksa dks ,d&nwljs dh vko’;drk gksrh gSA  

D- Jfedksa dks vkSj vf/kd etnwjh feyuh pkfg,A 

Which of the following statements describes “Mental Revolution” 

A. It implies change of attitude. 

B. The management and workers should not play games.  

C. Both management and workers require each other.  

D. Workers should be paid more wages. 

14- Lkkekftd okrkoj.k dk fuEufyf[kr esa ls dkSu lk mnkgj.k gS \ 

A- vFkZO;oLFkk esa eqnzk dh vkiwfrZ  B- miHkksDrk laj{k.k vf/kfu;e 

C- ns’k dk lafo/kku    D- ifjokj dh lajpuk 

Which of the following is an example of social environment ? 

A. Money supply in the economy B. Consumers Protection Act 

C. The constitution of the country D. Composition of family 

15- laxBu esa i{kikr ugha gksrk gS & 

A- vkSipkfjd laxBu    B- fØ;kRed laxBu 
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C- vukSipkfjd laxBu   D- foHkkxh; laxBu 

There is no favourtism in organisation 

A. Formal organisation   B. Functional organisation 

C. Informal organisation   D. Departmental organisation 

16- fdlh deZpkjh dsk ,d dk;Z ls gVkdj nwljs dk;Z ij yxkuk gS & 

A- LFkkukUrj.k     B- R;kx 

C- nksuksa  A ,oa B    D- buesa ls dksbZ ugha 

Shifting of an employee from one Job to another is called - 

A. Transfer     B. Resignation 

C. Both A and B    D. None of these 

17- fu;qfDrdj.k mÙknkf;Ro gS %& 

A- fuEu izca/k      B- e/;e izca/k  

C- mPp izca/k     D- mijksDr lHkh 

Staffing is the responsibility of :- 

A. Lower Management   B. Middle Management  

C. Top Management   D. All of above 

18- izf’k{k.k ,d izfØ;k gS %& 

A- lkekU;     B- fu;fer     

C- lrr~      D- buesa ls dksbZ ughaA 



10 
 

Training is a process :- 

A. General     B. Regular 

C. Continous    D. None of these 

19- deZpkfj;ksa dh HkrhZ ds eq[; lzksr dkSu gSa \ 

A- nks      B- rhu    

C- pkj      D- ik¡p 

What are the main sources of employees recruitment ? 

A. Two      B. Three 

C. Four     D. Five 

20- fu;qfDrdj.k ,d izfØ;k gS %& 

A- /kukRed     B- _.kkRed    

C- nksuksa      D- dksbZ ugha 

Recruitment is a process :- 

A. Positive     B. Negative 

C. Both     D. None of these 

21- fu;qfDrdj.k gS %& 

A- laxBu dk Hkkx    B- deZpkjh izca/k dk dk;Z   

C- izca/k dk dk;Z    D- mijksDr lHkh 

Staffing is :- 
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A. Part of organisation    

B. Function of personnel management 

C. Function of management 

D. All the above 

22- ekuo lalk/ku izca/k esa lfEefyr gS & 

A- HkrhZ      B- p;u    

C- izf’k{k.k     D- mijksDr lHkh 

Human Resource Management includes ………..  

A. Recruitment    B. Selection 

C. Training     D. All the above 

23- lans’k dks laizs"k.k izrhdksa esa cnyus dh izfØ;k dks tkuk tkrk gS %& 

A- ek/;e     B- ,udksfMax    

C- izfriqf"V     D- fMdksfMax 

The process of converting the message into communication 

symbol is known as - 

A. Medium     B. Encoding 

C. Feed back    D. Decoding 

24- fuEu esa dkSu&lk laizs"k.k izfØ;k dk rRo ugha gS \ 
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A- fMdksfMax     B- lEizs"k.k    

C- lans’k     D- lans’k izkIrdÙkkZ 

Which of the following is not an element of communication 

process? 

A. Decoding     B. Communication 

C. Message     D. Receiver 

25- O;olk; esa lapkj dh izHkkoiw.kZ i)fr dk gksuk D;ksa vko’;d gS \ 

A- ekxZn’kZu ds fy,    B- lwpuk ds fy,   

C- funsZ’ku ds fy,    D- mijksDr lHkh 

Why an effective communication system is essential in business? 

A. For guidance    B. For information 

C. For direction    D. All the above 

26- funsZ’ku dks izca/k ds fdl Lrj ij vko’;drk gksrh gS \ 

A- mPp      B- e/;e    

C- fuEu      D- lHkh 

Direction is required at what level of management ? 

A. Top      B. Middle 

C. Lower     D. All 

27- funsZ’ku lacaf/kr gS %&  
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A- mPp Lrj ls    B- e/;e Lrj ls   

C- fuEu Lrj ls     D- mijksDr lHkh 

Direction is related to :- 

A. Top level     B. Middle level 

C. Lower level    D. All the above 

28- izHkkoh lans’kokgu esa ck/kk gS %& 

A- Hkk"kk      B- nwjh  

C- O;fDrxr fHkUurk,¡    D- mi;qZDr lHkh 

Barrier in effective communication is - 

A. Language     B. Distance 

C. Individual difference   D.  All the above 

29- iz;Zos{kd deZpkfj;ksa dk gS & 

A- fe=      B- ekxZn’kZd  

C- nk’kZfud     D- mijksDr lHkh 

Supervisor is of the workers - 

A. Friend     B. Guide 

C. Philosopher    D. All the above 

30- fuEufyf[kr esa ls lq/kkjkRed dk;Zokgh esa dkSu mi;qDr ugha gS \ 

A- fofu;ksx dsUnz    B- ,aMkslsafVªd dsUnz    
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C- ykHk dsUnz     D- ykxr dsUnz 

Which of the following is not suitable in improvement process? 

A. Investment centre   B. Endocentric centre 

C. Profit centre    D. Cost centre 

31- ctVh; fu;a=.k ds fy, rS;kjh vko’;d gS %& 

A- izf’k{k.k le; lkj.kh   B- ctV   

C- usVodZ vkjs[k    D- mÙkjnkf;Ro dsUnz 

Budgetary control requires the preparation of - 

A. Training time table   B. Budget 

C. Network diagram   D. Responsibility centre 

32- izca/k vads{k.k fdlds fu"iknu ij fuxjkuh j[kus dh ,d rduhd gS \ 

A- dEiuh     B- dEiuh dk izca/k   

C- va’k/kkjh     D- xzkgd 

Management Audit is a technique to keep a check on whose 

performance ? 

A. Company      

B. Management of the company 

C. Shareholder      

D. Customer 
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33- ,d laxBu dk fu;a=.k djuk dk;Z gS & 

A- vkxs ns[kuk     B- ihNs ns[kuk   

C- vkxs] lkFk gh lkFk ihNs ns[kuk  D- buesa ls dksbZ ugha 

Controlling function of an organisation is - 

A. Forward looking     

B. Backward looking 

C. Forward as well as backward looking     

D. None of these 

34-  ,d izHkkoh fu;a=.k ra= lgk;d gksrk gS %& 

A- laxBukRed y{;ksa ds fu"iknu esaA 

B- deZpkfj;ksa dh euksn’kk ds lac/kZu esaA   

C- ekudksa dh ;Fkk;Zrk ds fu.kZ; esaA      

D- mi;qZDr lHkh  

An effective control system helpful to - 

A. Accomplish organisational objectives. 

B. Boost employee’s morale 

C. Judge Accuracy of standards 

D. All the above 
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35- fu;a=.k lacaf/kr gS & 

A- ifj.kke ls     B- dk;Z ls  

C- iz;kl ls     D- buesa ls dksbZ ugha 

Control is related to - 

A. Results     B. Functions 

C. Efforts     D. None of these. 

36- ctV vYidkyhu vkSj nh?kZdkyhu vko’drk ds fy, cuk;s tkrs gSaA 

A- lkekftd     B- vkfFkZd    

C- foÙkh;     D- buesa ls dksbZ ugha  

Budget are prepared for long term and short term needs - 

A. Social     B. Economics 

C. Financial     D. None of these 

37- ctV izca/kdh; uhfr dk fooj.k gksrk gS %& 

A- foÙkh;     B- vfUre   

C- dk;Z dk      D- xSj foÙkh; 

Budget is a statement of Budgetary policy :- 

A. Financial     B. Final  

C. Work     D. Non-financial 

38- ctVjh fu;a=.k izca/k dk Hkkx ugha gS 
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A- dk;Z      B- fgLlk    

C- LFkkukiUu     D- mi;qZDr esa ls dksbZ ugha 

Budgetary control is not a part of management. 

A. Function     B. Part 

C. Substitute     D. None of these 

39- O;kolkf;d miØe esa] fu;a=.k dh vko’;drk gksrh gS %& 

A- O;olk; dh LFkkiuk ds le;  B- O;olk; ds lapkyu ds le;  

C- o"kZ ds var esa    D- fujUrj 

In a Business enterprise, controlling is needed :- 

A. At the time of Establishment of Business. 

B. At the time of Direction of Business. 

C. At the End of the year, 

D. Continously. 

40- fu;a=.k izca/kdh; dk;Z gS %& 

A- vfuok;Z     B- vko’;d   

C- ,sfPNd     D- buesa ls dksbZ ugha 

Control is a managerial function :- 

A. Compulsory    B. Necessary 
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C. Optional     D. None of these 

41- fu;a=.k fØ;k gS %& 

A- ihNs ns[kus okyh    B- vkxs ns[kus okyh    

C- nksuksa A ,oa B    D- dksbZ ugha 

Control is an activity - 

A. Backward looking   B. Forward looking 

C. Both A and B    D. None of these 

42- fu;kstu ,oa fu;a=.k izca/k ds igyw gSa & 

A- tqM+ok     B- vyx   

C- iwjd      D- buesa ls dksbZ ugha  

Planning and controlling are an aspect of  management - 

A. Twins     B. Separate 

C. Complementary    D. None of these 

43- laxBu dk;Z ugha djrk gS %& 

A- fu;a=.k     B- izcU/kd   

C- A vkSj B nksuksa    D- buesa ls dksbZ ugha 

Organisation does not work :- 

A. Controlling     B. Manager  

C. Both A and B    D. None of these 
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44- izHkkoh fu;U=.k gS %& 

A- fLFkj      B- fu/kkZfjr    

C- xR;kRed     D- buesa ls lHkh 

Effective controlling is - 

A. Static     B. Determined 

C. Dynamic     D. All of these 

45- iw¡th <+k¡pk fu.kZ; D;ksa egRoiw.kZ gS \ 

A- iw¡th ykxr izHkkfor gksrh gSA   

B- va’kksa dk cktkj ewY; izHkkfor gksrk gSA    

C- mi;qZDr A o B nksuksa     

D- buesa ls dksbZ ugha 

Why capital structure decision is important ? 

A. Effects cost of capital    

B. Effects market price of shares 

C. Both A and B 

D. None of these 

46- dk;Z’khy iw¡th dk fu/kkZjd gS & 

A- laLFkk dk vkdkj    B- fuekZ.k izfØ;k dh vof/kA  

C- dPps eky dh miyC/krk   D- mi;qZDr lHkh 
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Determinants of working capital are - 

A. Size of Enterprise    

B. Period of manufacturing process 

C. Availability of raw material 

D. All of the above 

47- cksul fu.kZ; ds fu/kkZjd gS & 

A- ykHkksa dh ek=k    B- dks"kksa esa rjyrk 

C- dEiuh dh vk;q    D- mi;qZDr lHkh 

The determinants of Bonus decision are - 

A. Amount of profits   B. Liquidity of funds 

C. Age of the company   D. All the above 

48- fuEu esa dkSu&lk lerk ij O;kikj dk izdkj gS \ 

A- vYi&lerk ij O;kikj   B- mPp lerk ij O;kikj   

C- mi;qZDr A o B nksuksa   D- buesa ls dksbZ ugha 

Which of the following is a type of trading on equity ? 

A. Trading on thin equity.  B. Trading on thick equity. 

C. Both A and B    D. None of these 

49- cSad vf/kfodlZ dh lqfo/kk miyC/k gksrh gS %& 
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A- cpr [kkrk ij    B- pkyw [kkrksa ij    

C- fe;knh tek [kkrksa ij   D- mijksDr lHkh 

Bank overdraft facilities are available on - 

A. Term Saving A/C   B. Current A/C 

C. Term Deposit A/C   D. All the above 

50- LFkk;h iw¡th dh vko’;drk vof/k gksrh gS & 

A- vYidkyhu vof/k ds fy,   B- nh?kZdkyhu vof/k ds fy,  

C- nksuksa ds fy,    D- buesa ls dksbZ ugha 

Fixed capital period needed - 

A. For short period    B. For long period 

C. For both     D. None of these 

51-  foÙkh; izca/kd fu.kZ; ysrk gS & 

A- foÙkh;     B- fofu;ksx  

C- ykHkka’k     D- mijksDr lHkh 

Financial manager takes decision as to - 

A. Finance     B. Investment 

C. Dividend     D. All of the above 

52- O;kikfjd lk[k lzksr gS %& 

A- nh?kZdkyhu foÙk dk   B- e/;dkyhu foÙk dk  
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C- vYidkyhu foÙk dk   D- buesa ls dksbZ ugha 

Source of trade credit is - 

A. Long term finance   B. Medium-term finance 

C. Short term finance   D. None of these 

53- foÙkh; izca/k gS & 

A- dyk      B- foKku  

C- dyk vkSj foKku nksuksa   D- buesa ls dksbZ ugha 

Financial management is - 

A. Art      B. Science 

C. Art and science both   D. None of these 

54- O;olk; ds lapkyu esa iz;qDr vis{kkd`r LFkk;h izd`fr dh lEifÙk;k¡ gksrh gS tks fd 

foØ; ds fy, ugha gksrh gSA 

A- LFkk;h lEifÙk;k¡    B- pkyw lEifÙk;k¡  

C- vn`’; lEifÙk;k¡    D- buesa ls dksbZ ugh 

Assets of a relatively permanent nature used in the operation of 

business and not intended to sale.” 

A. Fixed Assets    B. Current Assets 

C. Intangible Assets   D. None of these 

55- foÙkh; izca/k ds eq[; dk;Z gS & 
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A- dks"kksa dks izkIr djuk   B- dks"kksa dk mi;ksx djuk 

C- dks"kksa dk vko.Vu    D- buesa ls dksbZ ugha 

Main functions of financial management are :- 

A. Procurement of funds   B. Utilisation of funds 

C. Allocation of funds   D. None of these 

56- pkyw lEifÙk dk ;ksx gS %& 

A- LFkk;h iw¡th     B- dk;Z’khy iw¡th 

C- dqy iw¡th     D- buesa ls dksbZ ugha 

“The sum of the current assets is - 

A. Fixed capital    B. Working capital 

C. Total capital    D. None of these 

57- LFkk;h iw¡th dh vko’;drk gksrh gS %& 

A- nSfud C;;ksa ds fy,   B- Hkwfe [kjhnus ds fy, 

C- LVkWd [kjhnus ds fy,   D- ysunkjksa ds Hkqxrku ds fy, 

Fixed capital is required :- 

A. For routine expenses   B. For purchase of land 

C. For purchase of stock   D. For payment of creditors 

58- fuEu esa ls dkSu lqn<̀+ foÙkh; fu;kstu dh fo’ks"krk,¡ gSa \ 

A- ljyrk     B- rjyrk 
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C- ferO;f;rk      D- mijksDr lHkh 

Which of the following is characteristics of sound financial 

planning? 

A. Simplicity     B. Liquidity 

C. Economy     D. All the above 

59- foÙkh; fu;kstu dh izfØ;k gS & 

A- foÙkh; mís’;ksa dk fu/kkZj.k   B- foÙkh; uhfr;ksa dk fu/kkZj.k 

C- foÙkh; dk;Zfof/k;ksa dk fu/kkZj.k  D- mi;qZDr lHkh 

The process of financial planning - 

A. Determination of financial objectives. 

B. Determination of financial policies. 

C. Determination of financial procedure.     

D. All the above 

60- iw¡th feyku ds fofHkUu izdkj D;k gSa \ 

A- 1      B- 2 

C- 3       D- 4 

What are the various types of Capital gearing is ? 

A. 1      B- 2 

C- 3       D- 4 
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61- vks0 Vh0 lh0 b0 vkbZ0 dk izkjaHk fdlds rtZ ij gqvk Fkk \ 

A- uSlMsd     B- ,u0 ,l0 okbZ0 bZ0 

C- uklkd      D- ,u0 ,l0 bZ0 

OTCEI was started on the line of - 

A. NASDAQ     B. NSYE 

C. NASAQ     D. NSE 

62- ,u0 ,l0 bZ0 ds fDy;fjax ,oa fuiVku ogu fd, tkrs gSa & 

A- ,u0 ,l0 Mh0 ,y    B- ,u0 ,l0 ckbZ0 bZ0 

C- ,l0 ch0 vkbZ0     D- lh0 Mh0 ,y0 ,y0 

Clearing and settlement operation of NSE is carried out by - 

A. N.S.D.L.     B. N.S.Y.E. 

C. S.B.I.     D. C.D.L.L. 

63- vks0 Vh0 lh0 bZ0 vkbZ0 esa lwphc) gksus ds fy, fdruh U;wure iw¡th dh vko’;drk 

gksrh gS \ 

A- 5 djksM+     B- 3 djksM+ 

C- 6 djksM+      D- 1 djksM+ 

To be listed on OTCEI, the minimum capital requirements for a 

company is :- 
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A. 5 crore     B. 3 crore 

C. 6 crore     D. 1 crore 

64- jktdks"k fcy ewyr% gksrs gSa %& 

A- vYidkfyd Q.M m/kkj ds izi=  B- nh?kZ dkfyd QaM m/kkj ds izi= 

C- iw¡th cktkj ds ,d izi=   D- mi;qZDr dqN Hkh ugha 

Treasury bill are basically - 

A. An instrument to borrow short-term funds. 

B. An instrument to borrow long-term funds. 

C. An instrument to capital market.    

D. None of the above 

65- cktkj esa u;s va’kksa dk fuxZeu gksrk gS & 

A- izkjafHkd     B- f}rh;d 

C- laxfBr      D- vlaxfBr 

New shares are issued in the market - 

A. Primary     B. Secondary 

C. Organised    D. Unorganised 

66- lsch dk {ks=h; dk;kZy; fLFkr gS %&  

A- fnYyh     B- dksydÙkk 
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C- psUubZ      D- bu rhuksa txg 

Regional office of SEBI is situated in - 

A. Delhi     B. Kolkata 

C. Chennai     D. All these three 

67- oS/kkfud :Ik esa lsch dh LFkkiuk gqbZ Fkh %& 

A- 1988      B- 1990 

C- 1992       D- 1994 

Legally, SEBI was established in - 

A. 1988      B- 1990 

C- 1992       D- 1994 

68- uohu fuxZfer va’kksa esa O;ogkj djrk gS & 

A- xkS.k cktkj     B- izkFkfed cktkj 

C- xkS.k cktkj rFkk izkFkfed cktkj nksuksa D- buesa ls dksbZ ugha  

In new issued shares, deals in - 

A. Secondary market    

B. Primary market 

C. Secondary and primary market both  

D. None of these 
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69- iw¡th cktkj O;ogkj djrk gS & 

A- vYidkyhu dks"k    B- e/;dkyhu dks"k 

C- nh?kZdkyhu dks"k    D- buesa ls dksbZ ugha 

Capital market deals in - 

A. Short-term funds   B. Medium-term funds 

C. Long-term funds   D. None of these 

70- okf.kfT;d foi= fy[kk tkrk gS %& 

A- Øsrk }kjk     B- cSad }kjk 

C- ljdkj }kjk     D- foØsrk }kjk 

Commercial bill is written:- 

A. By purchaser    B. By bank 

C. By the Government   D. By seller 

71-  LdU/k foif.k fgr dh lqj{kk djrh gS  

A- fuos’kd     B- dEiuh 

C- ljdkj      D- fdlh dk ugha 

Stock exchange protects the interest of - 

A. Investor     B. Company 

C. Government    D. None of these 

72- Rkjyrk dk fuekZ.k djrk gS & 
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A- laxfBr cktkj    B- vlaxfBr cktkj 

C- izkFkfed cktkj    D- xkS.k cktkj 

Creates liquidity - 

A. Organised market   B. Unorganised Market 

C. Primay market    D. Secondary market 

73- eqnzk cktkj O;ogkj djrk gS & 

A- vYidkyhu dks"k    B- e/;dkyhu dks"k 

C- nh?kZ dkyhu dks"k    D- buesa ls dksbZ ugha 

Money market deals in - 

A. Short-term funds   B. Medium-term funds 

C. Long term funds   D. None of these 

74- LdU/k foif.k ns’k dh ekiu ;a= gS & 

A- lEiUurk     B- fodkl 

C- o`f)       D- buesa ls dksbZ ugha 

Stock exchange is the barometer of countries - 

A. Prosperity     B. Development 

C. Growth     D. None of these 

75- iw¡th cktj ij fu;a=.k gS & 

A- lsch      B- fjtoZ cSad 
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C- bjMk       D- buesa ls lHkh 

Capital Market is regulated by - 

A. SEBI     B. RBI 

C. IRDA     D. All of these 

76- LdU/k foif.k esa izfrewfr;ksa dk Ø;&foØ; dj ldrs gSa %& 

A- dksbZ Hkh O;fDr    B- flQZ jftLVMZ O;fDr 

C- A ,oa B nksuksa     D- buesa ls dksbZ ugha 

Security can be sold & purchased in stock exchange by - 

A. Any person    B. Only registered person 

C. Both A and B    D. None of these 

77- Hkkjrh; izfrHkwfr ,oa LdU/k e.My dk laf{kIr uke & 

A- lsch      B- fjtoZ cSad  

C- LVsV cSad vkWQ bafM;k   D- cSad vkWQ bafM;k 

Short name of securities and exchange board of India is - 

A. SEBI     B. RBI 

C. SBI      D. Bank of India 

78- vkS|ksfxd fodkl ds fy, t:jh gS & 

A- eqnzk cktkj     B- iw¡th cktkj 

C- izkFkfed cktkj    D- f}rh;d cktkj 
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Necessary for the industrial development :-  

A. Money Market    B. Capital Market 

C. Primary Market    D. Secondary Market 

79- foKkiu ekuk tkrk gS & 

A- viC;;     B- fofu;ksx 

C- foykflrk      D- buesa ls dksbZ ugha 

Advertisement is considered as - 

A. Wastage     B. Investment 

C. Luxury     D. None of these 

80- lEekfur miHkksDrk rd O;fDrxr igw¡p LFkkfir dh tkrh gS & 

A- foKkiu }kjk    B- foØ; lao)Zu mik;ksa }kjk 

C- oS;fDrd foØ; }kjk   D- mi;qZDr esa fdlh }kjk ugha 

Personal approach is established with potential consumers :- 

A. Through Advertisement   

B. Through sales promotion methods 

C. Through personal selling      

D. Through none of the above 

81- O;olk; ds fy, foi.ku gS & 
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A- vfuok;Z     B- foykflrk 

C- vko’;d      D- vuko’;d 

For business, marketing is - 

A. Compulsory    B. Luxury 

C. Necessary    D. Unnecessary 

82- foi.ku feJ.k esa lfEefyr ugha gksrk gS& 

A- ewY;      B- mRikn 

C- izksUufr      D- miHkksDrk laj{k.k 

Marketing mix does not include :- 

A. Price     B. Product 

C. Promotion    D. Consumer Protection 

83- lcls vf/kd O;kid {ks= gS %& 

A- czk.M      B- yscfyax 

C- iSdsftax     D- O;kikj ekdZ 

Maximum wide scope is of - 

A. Brand     B. Labelling 

C. Packaging    D. Trade mark 

84- foKkiu dk ek/;e gS & 

A- uewus      B- izhfe;e 
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C- dysUMj ,oa Mk;jh vkfn   D- izn’kZu 

Media of advertising is - 

A. Samples     B. Premium 

C. Calender and diary etc  D. Demonstration 

85- foi.ku vo/kkj.kk dk egRo gS %& 

A- lekt ds fy,    B- miHkksDrkvksa ds fy, 

C- mRiknd ds fy,    D- bu rhuksa ds fy, 

Importance of marketing concept is :- 

A. for society     B. for consumers 

C. for producers    D. For all these three 

86- vPNs czk.M dh fo’ks"krk,¡ gS & 

A- lw{e uke     B- Lej.kh; 

C- vkd"kZd      D- ;s lHkh 

The characteristics of a good brand are - 

A. Short Name    B. Memorable 

C. Attractive     D. All of these 

87- HkkSfrd forj.k esa lekosf’kr ugha gksrk gS %& 

A- ifjogu     B- foÙk O;oLFkk 

C- Hk.Mkj.k      D- Lda?k fu;a=.k 
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Physical distribution does not include - 

A. Transportation    B. Financing 

C. Warehousing    D. Inventory control 

88- fuEu esa ls dkSu&lk miHkksDrk mRikn ugha gS \ 

A- dPpk eky     B- jsfÝtjsVj 

C- iqjkuh ewfrZ;k¡    D- buesa ls dksbZ ugha 

Which one is not the consumer product ? 

A. Raw materials    B. Refrigerator 

C. Old statutes    D. None of these 

89- foi.ku dk ykHk gS & 

A- miHkksDrkvksa dks    B- O;kolkf;;ksa dks  

C- fuekZrkvksa dks     D- lHkh dks 

The Advantage of Marketing is - 

A. To consumers    B. To businessmen 

C. To manufacturers   D. To all 

90- yscfyax gS & 

A- vfuok;Z     B- vko’;d 

C- ,sfPNd       D- /ku dh cckZnh 

Labelling is - 
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A. Compulsory    B. Necessary 

C. Voluntary     D. Wastage of Money 

91- foi.ku ij O;; fd;k x;k /ku gS & 

A- cckZnh     B- vuko’;d O;; 

C- xzkgdksa ij Hkkj    D- fofu;kstu 

Money spent on marketing is - 

A. Wastage     B. Unnecessary expenses 

C. Burden on the customers  D. Investment 

92- fuEu esa ls dkSu foØ; lao)Zu midj.k ugha gS \ 

A- uewus      B- iSd ds vUnj bZuke 

C- dwiu       D- okj.Vh 

Which one of the following is not the sales promotion tool ? 

A. Samples     B. Prize in pack 

C. Coupons     D. Warranty 

93- fuEu esa ls dkSu iSdsftax dk dk;Z gS \ 

A- lqj{kk     B- lqfo/kk 

C- igpku      D- mijksDr lHkh 

Which of the following is function of packaging? 

A. Protection     B. Convenience 
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C. Indetification    D. All of the above 

94- miHkksDrk laj{k.k vf/kfu;e ds varxZr miHkksDr ls vk’k; gS %& 

A- eky Ø; djds iqufoZØ; djus okyk O;fDr 

B- eky Ø; djds iqufoZØ; u djus okyk O;fDr 

C- eky ds ikV~Zl Ø; djds eky la;kstu djus okyk O;fDr    

D- buesa ls dksbZ ugha 

Under consumer protection Act, consumer means - 

A. The person who purchases the goods and resale them. 

B. The person who purchases the goods and not resale them. 

C. The person who purchases the components and assemble the 

goods. 

D. None of these 

95- jk"Vªh; vk;ksx ds lnL; dh vf/kdre vk;q gks ldrh gS & 

A- 60 o"kZ     B- 65 o"kZ 

C- 70 o"kZ      D- buesa ls dksbZ ugha 

The maximum age of the member of National Commission may 

be- 

A. 60 yrs.     B. 65 yrs. 

C. 70 yrs.     D. None of these 
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96- fuEu esas ls dkSu xSj&ljdkjh laxBu ugha gSA 

A- eqEcbZ miHkksDrk iapk;r] eqEcbZ   

B- miHkksDrk la?k] dksydkrk 

C- miHkksDrk f’k{kk ,oa 'kks/k dsUnz] vgenkckn      

D- miHkksDrk leUo; ifj"kn~] ubZ fnYyh  

Which of the following is not a NGO? 

A. Mumbai Consumers Panchayat, Mumbai. 

B. Consumers Association, Kolkata. 

C. Consumer Education and Research Centre, Ahmedabad.  

D. Consumers Co-ordination Council, New Delhi 

97- miHkksDrk laj{k.k vf/kfu;e ds varxZr miHkksDrk U;k;ky; ls vk’k; gS & 

A- ftyk Qksje     B- jkT; vk;ksx 

C- jk"Vªh; vk;ksx    D- mi;qZDr lHkh 

Meaning of consumer court under consumer protection Act - 

A. District Forum    B. State Commission 

C. National Commission   D. All of the above. 

98- Hkkjr esa dk;Zjr xSj&ljdkjh laxBu gSA 

A- okWbl ¼VOICE½    B- dkWeu dksat 

C- A rFkk B nksuksa     D- buesa ls dksbZ ugha 
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Non Government organisation working in India is - 

A. VOICE     B. Common cause 

C. Both A and B    D. None of these 

99- Hkkjr esa miHkksDrk dk mÙkjnkf;Ro gSA 

A- xq.koÙkk ds izfr lpsr   B- [kjhn ij jlhn izkIr djuk 

C- vius vf/kdkj ds izfr lpsr  D- buesa ls lHkh 

The responsibility of consumers in India is - 

A. To be quality conscious   

B. To obtain receipt on purchase 

C. To be aware of rights 

D. All of these 

100- jkT; vk;ksx fooknksa dk fuiVkjk dj ldrk gS %& 

A- 5 yk[k rd    B- 10 yk[k rd 

C- 15 yk[k rd    D- 10 djksM+ rd

State commission can settle disputes - 

A. Upto  5 Lakh    B. Upto 10 Lakh 

C. Upto 15 Lakh    D. Upto 10 Crore 
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Section-B

Short Answer Type Questions

iz’u la[;k 1 ls 30 rd y?kq mÙkjh; iz’u gSaA fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd iz’u ds 

fy, 2 vad fu/kkZfjr gSaA        (15x2=30) 

Question no. 1 to 30 are Short answer type questions. Answer any 15 

questions. Each question carries 2 marks.    (15x2=30) 

1- ,slk D;ksa dgk tkrk gS fd izca/k ds fl)kUr lkoZHkkSfed gSa\ 

Why it is said that principles of management are universal? 

2- izca/k ds fl)kUr dks le>kb,A  

Explain the principles of Management. 

3- oSKkfud izca/k esa Vsyj dk D;k ;ksxnku gSA 

What are the contribution of Taylor in Scientific Management? 

4- oSKkfud izca/k dh ifjHkk"kk nhft,A 

Give the definition of scientific management. 

5- O;kolkf;d okrkoj.k ds v/;;u ds dksbZ nks ykHk crk;saA 

State any two advantage of Business Environment Study. 

6- vkfFkZd iz.kkfy;ksa ds dksbZ nks izdkj crkb;sA 

State any two types of Economic system 

7- O;kolkf;d i;kZoj.k ls vki D;k le>rs gSa\ 

What do you understand by Business Envrionment? 
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8- fu;kstu ls vki D;k le>rs gSa \ 

What do you mean by Planning? 

9- uhfr;ksa dk izca/k esa D;k egRo gS \ 

What are the importance of policies in management ? 

10- ,d vkn’kZ ;kstuk ds dksbZ nks xq.k crkb,A 

Write any two characteristics of an ideal Planning. 

11- D;k fu;kstu izca/k dk vk/kkjHkwr dk;Z gS \ 

Is planning a fundamental function of management? 

12- fu;kstu dh nks lhekvksa dks crk,¡A 

State two limitations of Planning. 

13- laxBu D;ksa vko’;d gSA 

Why organisation is necessary ? 

14- laxBu fdl izdkj leUo; esa lgk;d gS\ 

How organisation is helpful in co-ordination? 

15- fØ;kRed laxBu fdls dgrs gSa\ 

What is functional organisation ? 

16- HkkjkiZ.k ds rRoksa dk o.kZu dhft,A 

Discuss the elements of delegation. 

17- HkrhZ ds vkUrfjd lzksrksa dk o.kZu dhft,A 

Discuss the internal sources of recruitment. 

18- HkrhZ vkSj pquko esa dksbZ nks varj crkb,A 
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State any two differences between recruitment and selection. 

19- izf'k{k.k ds nks ykHk fyf[k,A 

Write two advantages of training. 

20- fu;qfDrdj.k ls vki D;k ld>rs gSa\ 

What do you mean by staffing ? 

21- i;Zos{k.k ls vki D;k le>rs gSa \ 

What do you understand by supervision? 

22- usr`Ro ls vki D;k le>rs gSa\ 

What do you mean by leadership? 

23- izca/k esa lans’kokgu dk egRo crkb,A 

State importance of communication in management. 

24- fu;a=.k dh fdUgha nks lhekvksa dks Li"V dhft,A 

Explain any two limitations of controlling. 

25- ctVjh fu;U=.k D;k gS \ 

What is budgetory control ? 

26- O;kolkf;d foÙk D;k gS \ 

What is business finance? 

27- foÙkh; izca/ku ds dksbZ nks mís’; crkb,A 

State any two objectives of financial management? 

28- foKkiu dks vf/kd izHkko’kkyh cukus ds fy, nks lq>ko nhft,A 

Give two suggestions to make adverstising more effective. 

29- miHkksDrk laj{k.k dk D;k vFkZ gS \ 

What is meant by consumers protection ? 

30- yscfyax ds dksbZ nks dk;ksZa dks crkb,A 
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Explain any two functions of labelling. 

Long Answer Type Questions

iz’u la[;k 31 ls 38 rd nh?kZ mÙkjh; iz’u gSaA izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSA 

buesa ls fdUgha 4 iz’uksa ds mÙkj nsaA       (4x5=20) 

Question no. 31 to 38 are Long answer type questions. Each question 

carries 5 marks. Answer any 4 ( Four) questions.   (4x5=20) 

31- vk/kqfud O;olk; esa izca/k D;ksa vf/kd egRoiw.kZ gks x;k gS\ 

Why management is more important in modern business? 

32- leUo; ls vkidk D;k vfHkizk; gS\ blds egRo dk o.kZu djsaA 

What do you mean by co-ordination? Explain its importance. 

33- oSKkfud izca/k ds eq[; fl)kUr D;k gS\ 

What are the main principles of scientific management? 

34- ,d O;olk; esa fu;kstu D;ksa vko’;d gS\ le>k,¡A 

Why planning is essential in a business? Explain. 

35- iw¡th ctfVax fdls dgrs gSa\ iw¡th ctfVax dks izHkkfor djus okys rRo dkSu&dkSu ls 

gSaA 

What do you mean by Capital Budgeting? What are the various 

elements affecting capital budgeting? 

36- LFkk;h iw¡th dh vko’;drk dks izHkkfor djus okys ?kVdksa dks fyf[k,A 

State the factors affecting the requirements of fixed capital. 

37- ̂ ^foKkiu ij fd;k x;k O;; fofu;ksx gS] viO;; ugha** bl dFku dh O;k[;k 

dhft,A 
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“Money spent on advertisement is an investment, not a waste”. 

Examine this statement. 

38- miHkksDrk laj{k.k vf/kfu;e ds vUrxZr miHkksDrk ds fdrus izdkj gksrs gSa\ o.kZu djsaA 

What are the types of consumers under Consumer Protection Act? 

Explain. 


